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INSTRUCTIONS TO CANDIBAT

1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Note : Answer all the questions. Each question carries 1 mark.
BRUE 1 QR TINort woIoR. BT I 1 0s.

1. On an average finance companies capital to Assets ratio.
a) 12% b) 10% c) 9% d) 8%
XTORO BEITORD FOTANTD T, WOBTY R BT BROOTOZT.
a) 12% b) 10% c) 9% d) 8%

2. Which of these is a crucial activity ?

a) Planning of a project b) Controlling of a project
c) Management of a project d) None of these

31 BINIYV), CARYTd AFOF 08 WEOTEIFIRAT 2

a) 2,00 9,288° odpews b) 2.0z 33,288° Ao, 9

UG - 444

(1x40=40)

C) 20T 33,85, IVFTH

3. The Rights of a patentee are
a) Sell or distribute
c) Assign the property to others
LOTD TR, mﬁaﬂog%@ OINRT A0TT
a) I BT ST
C) 3 |STON ANQTBROFYTO
4. What does red bus earn ?
a) Profit
c) A Commission per bus ticket
3&® Xt DI, AEROIT 2
a) ooy
C) T,8 WX LB BORT*

d) |mRTe B,

b) License
d) All of the above

b) TSN
d) 00T 20Tp

b) Interest
d) None

b) we
d) cingoe s
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S.

What are the various heads of costs in the project report ?

a) Land b) Site preparation
c) Fabrication and creation d) All of the above
A3RezEodd FTOHY, DG dedadd BFnied AR ?
a) w3 b) fgj&a‘ 303520
c) 3o3»0F B ATIFED d) 0T QP
. The word ‘Entrepreneur first appeared in which language ?
a) German b) British c) French d) American
'ROWT T, T 0w T o3nes LomoddE) Tor3RBRORBD ?
a) BIFS* b) o3 c) P o d) es330e0%0
. All decisions concerning business are taken by the
a) Management b) Entrepreneur
c) Share holders d) Creditors
mﬁmdﬁa ROWORAT DT, AGIF TRFTY, 03ITL a”ﬁcﬂoﬁm%ﬁggd‘ ?
a) o, JeestRooes b) evz o
C) ToTT d) T JeRTII
. ‘Entrepreneurship is essentially a certain activity’ who said this ?
a) J.A. Schumpeter b) J. Jayalalitha
¢) Rahul Gandhi d) Ratan Tata

‘AR 2,000 RETIYE BOTLE Tordedn, e TACDHF B 33,25, oty GARTd
BT 2

a) 8¥.0. Boe3T* b) ¥. xobeodz
C) TomOC* Mood d) S3S%° et
. The problem faced by women Entrepreneur are
a) Problem of Access Finance b) Male Dominated Society
c) Family Conflicts d) All of the above
&TD wcﬁamm:b QTOOXOR 5mﬁ£mb D0TT
a) BT FIOX, b) DR T, B2
C) DLW DRF d) eI deyzp
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10.

11.

1€

13.

14.

An Entrepreneur is said to be on seeker.
a) Opportunity b) Eye c) Market d) Project
WOEIER T3 S0 TBEOR0TBI BNTOTVS.
a) 53503 b) gea), C) RRTOTE, d) odnend
Long-term finance is required for processing
a) Current Assets b) Fixed Assets
c) Liquid Assets d) None of these
TR 339, T0C TTIN DEFFBQ TEITAD SHTRS BABOIT SNRBNT.
a) TR =R b) ATod
C) PDITORBSFRWTOTOT ?o;:éb_nﬁedo d) eam@m Q)
is the only activity which produces revenue while all other activities

incures expenditure.

a) Marketing b) Production

c) Planning d) None of the above

QBT 2R, WBLIT[LIBNL SIS SRPIROIT SBT3 2BeDTLT BRS,
S0P YVT DT WeATILIT.

a) =oedredont b) LvZT

c) odnexs d) 0= CBNRRTR B

Which of the following is an intellectual property law ?

a) Customer Act — 1962 b) Trademark Act — 1999

c) Patent Act— 1970 d) Design Act — 2000

33 ISNIYNTY, 2396336 SR FORATO CIRFT ?

a) BIRT* E;F - 1962 b) & ems's &5 — 1999

c) Seedoes &7 — 1970 d) &3 &5 —2000

The three types of finance companies are

a) Business, Consumer and Retail b) Business, Sales and Consumer
c) Retail, Wholesale and Consumer d) Retail, Business and Sales
R0RDD ATNS TEITORD FoTANLL CIRTYReTT

a) 33,390, maﬁm&z&udmwd b) 59,5590, TR0 OB M, T8

c) z.%odm—‘ac: *’ﬁwar*ad:ﬁm e d) u@dm*—ad m—adabsa SP00E3
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15.

16.

17.

18.

I
N i i

Business finance companies provide
a) Factoring
b) Equipment that can be leased
c) Checking accounts
d) Only a) and b) of the above
9,390 BEaFORD FOTIND o3,
a) VIJTIFI
b) zimrﬁ T, TREWIBITE LVTFTENSD
C) mérie;ai% 20&eDROT Foeed
d) R0ed3 a) SO b) W3,

Source of short-term Finance

a) Trade Credits b) Installment Credits
c) Customer advances d) All of the above
BERTE JEITAT SwOned &3NS,

a) %émd OO b) 3030 m©

C) ™,®T WIS edrinehd d) ST QI
The symbol of Maharaja of Air India is

a) Copyright b) Trade Mark

c) Patent d) All of the above
WOTOTO DTF Q0RO zﬁ BN,

a) 33 TR, b)m-'—acsasg

C) Sesiors d) dat‘@s Q@Q@

Decision making means _

a) The ability to choose the correct alternatives
b) The ability to choose the NGO decisions

¢) The ability to choose sports activity

d) All of the above

NTOFT § e 20Ts
a) ~,.Jcr.fo::rr;:cbi'x‘&.ﬁci) ROCINT TASRFODIRY =03 ), WRET 3 RO,
NGO D62 obTEQ FOOIRTS 05 TP 1 RO,

b)
Cc) 3w wmjwmf@ Rafelevipia e:so.’n IRRT T *amqg =
d) ﬁoe@s N0
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19. Functions of Financial services is not includes

a) Mabilization of savings b) Allocation of Fund
¢) Specialized services d) Collection of tax
TRV IR RO WP,
a) LeT]ad ﬁcﬁ.ujﬂsmﬁgi b) DO T0owBOID),
€) 2T eIy d) 3on Ko, weI),
20. s the first and foremost principles of Management.
a) Planning b) Production c) Progress d) Marketing
ST B ST ) ©n)ne, 33,
a) cdRelxond b) ¢TI c) J[ynd d) sndrelon’
21. In which of the following city was OLA cab introduced for the first time ?
a) Mumbai b) Delhi c) Bangalore d) Chennai
3TTC3 ST INU0Y, Lo 5,1, ST wedR TBOWWRTIOW ?
a) =0ctg, b) 3x9 c) Wonentd d) &3,
22. SSI stands for
a) Small Scale Industry b) Small Scheduled Industry
c) Smalil Scale Institution d) None of the above
.20, DI T,303038 9
a) T3 TERO0 G b) ﬁmgﬁ?oﬂa:eﬁ 0T,
c) W3 LERET mi d) SO CIRPTH BY,
23. According to Entrepreneur is an important agent of production who
gets together other factors of production.
a) St. Louis b) J.B. Say
¢) H. Kaul d) None of the above
O, 00,500 tUBa 03030 000 fototd’ NG | oS 3onnviRy
P RN A O |
a) %547 3,;:,_*;.';3;'.',‘ b) 4.1.%¢
6) st ot d) S0 adnd eae),
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24,

25.

26.

In which year did “Make in India” Programme commence 1

a) 2010 b) 2014 c) 2016 d) 2017
OIS BRETO, “co65* AT QRN FOFE,R es8023RtR0RD ?

a) 2010 b) 2014 c) 2016 d) 2017
The activity which occures when the new ventures is started is called

a) Business skill b) Goal orientation

¢) Motivation d) Departure point

TRA TR T SToReomn FoIaRE 1363033E35030TY Q0T
DO,

a) ;T P b) 70 3003

¢) Feas d) nFa3

The characteristic of an Entrepreneurship are

a) Innovation b) Motivation

c) Risk taking d) All of the above
emdéaaéwé rbrwi £arish &SNS,

a) SOTWT
C) 50D rs’ﬁcbira%#%@m

b) &,008
d) F0ed3 weme

27. In business risk includes
a) Boost India’s economic growth b) Plan
c) Decline job opportunities d) Flexibility
IDHOY esmodms;ltwﬁmo@d)gd_
S
c) md;a&mmm: _PI0D d) Eﬁaoé 3
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28. The Entrepreneur make use of his
a) Initiative b) Skill
¢) Good Judgement d) All of the above
WBVII_ wdrEems.
a) [RBO3eLI o b) Pz
C) VD EeYF d) SoedR QTP
29. Whatsapp joined Facebook in
a) 2010 b) 2015 c) 2011 d) 2014
LT &, FeRTUOTT FedT) QRIODY,
a) 2010 b) 2015 c) 2011 d) 2014
30. J.B. Say opines that an Entrepreneur is an
a) Economic Agent b) Financial Agent
c) Marketing Agent d) None of the above
23.22. 8¢ &0z, 2003RY, DBORD LI, CDTITHTOTT ST wy),
a) S6F3 méo&a‘ b) ReoBoR> Dok
c) [Fredon’ o3’ d) S0edT T B
31. Bigbasket.com is India’s largest
a) Tyre Market b) Oil Market
¢) Online Grocery Super Market d) None of the above
mn‘mﬁa&s‘.mm‘ 0T BRE,
a) t300° BPCIBE b) 3 © IR,
C) BT 80053 RRTO® SRTTE, d) R0edT cIRPTe Y
32. Flipkartis not an Indian company since itisregisteredin_____and majority
of its shareholders are foreigners.
a) Thailand b) Singapore
c) Malasia d) Japan
QFEFF LTS0IT FOTIODY, 03328033 AT B3e33E), DO
abao LT WRISeT ReTOTITT adeéodaoahmd
a) r%emasocss b) ROTTHRO®
c) mejemﬁ d) mZ°
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33.

34.

35.

36.

Which among the following app joined Facebook on 2014 but continues to
operate as app ?

a) Whatsapp b) Viber c) Hangouts d) Timeline
B BINT oI yFeRa’ 2014 S Fexwos® FeOTTR R® 33,8 o) Fed’ BN
ﬁaoiaram-aomgd ?

a) o b) o €) T, 0P d) G
When was Google hangout released ?

a) August 15-2010 b) April 15—-2013

c) May 15 -2013 d) September 15—2010
MRNY® T3, 0NPEF* WHOINBOIPNT,

a) onx 15-2010 b) ©&,ef 15-2013

c) &0e15-2013 d) B0’ 15 -2010
Which among the following dues copyright not protect ?

a) Names of the product b) Names of Business

c) Title of works d) All of the above

33 BN F3 IR 78T, TIT O3RN wWISROBOY, ?

a) em?ﬁl ny IO b) mﬁmdzs DI

c) §,8nY dears d) 00T 20

An Entrepreneur should possess the following trait

a) Willingness to assume risk b) Leadership

c¢) Decisiveness d) All of the above
ordedR, e 0 B3 FINT CIRT ©FED BROQTUER ?

a) 9T SPOIVT Q?.'g: b) 0B,

C) Qrarod D833 d) S0edT QP
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37. Who are the most valuable asset of an Enterprise ?

38.

39.

40.

a) People
c) Management

b) Money
d) Machinery

2,00 VT ETE, 98 03 CRRY, &3 IRTHATIZTTE ?

a) =28
C) AZFID

Who is the founder of Redbus ?
a) Phanindra Sama
c) Sudhakar Pasupunuri

S WSS :Somewﬂ o3RO ?
a) FPrIeos, P

C) RITHBC® TROTYO

OLA started functioning from

a) August — 2006

c) March —2010

2,87 FDORF ATF G T2, BORAT),
a) ©nx — 2006

c) S —2010

Flipkart is an

a) E-Commerce online
c) Cosmetic

QIVEFF WO ____ FOTR.
a) Q-TRFF ST

C) T08RFFT

company.

b) o
d) oDodR,eTETeanEd

b) Charan Padmaraju
d) All of the above

b) 305" wWrjoewd
d) SO 2QTH

b) January - 2011
d) February — 2000

b) ®x3=0 - 2011
d) 352,30 - 2000

b) Electronic
d) Automobile

b) 2z,
d) SomIned
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Note : Answer all the questions. Each question carries 2 marks. (2x15=30)
AU : S BINer cvZon. T, B3 2 B0,

41. Finding of telephone by Graham Bell is an example of

R @0t etmriahi) J0rLAERE) CRTE, CUmBTEIRNTS ?

a) 8O3 b) RodeeFS

C) TR, d) RoedT QTP
42. _  are meaningless without market.

a) Products b) Land c) Labour d) Machines

B - 0] S ple LU oo S DT S o

a) =ROND b) e c) 3= d) o303,
43. is regarded as the fourth element of the financial system.

a) Financial service b) Financial markets

c) Financial investment d) Financial institutions

BEOTORD 33T 0D TTe 0BT TORESIIONT.
a) BeoFoRd XesnL b) Teazomd SToBEIRD
c) @eomrd B8 d) Beasmo Rodricy
Q@

44. Which is the dominate concern of a project management 7

a) Planning b) Co-ordination

c) Control d) None of these

oi:aej:sm S).ﬁt-’cns'a&'b@_j OIRE TBI0D 5037 T e xmﬁamnmgd ?

c) Qo003

d) smFae )
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45. Trade in service includes which of th
a) Computer hardware
c¢) Insurance

e following ?
b) Textiles
d) Aerospace
D, TRCBOR Xead F9NS CANFTR, 1eiposd ?

a) 50@5530‘ 305‘9)05 = b) 29

€) 2 SRR d) 0308 0dRs

46. The benefit of technology in communication are

a) Speed b) Clarity
¢) Proximity d) All of the above
ROTTITE), B0Z, 2T T, 0dpewInisd e3NT3.
a) Ien b) IR
C) RO, d) S0eOS 2P

47. The facilitating factors influencing women entrepreneurship are
a) Support of family members b) Adequate financial facilities
¢) Innovative thinking d) All of the above
S0&P0oDT T TodewZ0dd 2R0eS T, VBT RVBAO 03RS
a) BoL0WT ITI T Wowe b) X8, BRFE Py
C) SNES 23033 d) S0edI 2O

48. Document required for Mudra Loan
a) Proof of applicant identity
b) Proof of bus ticket
¢) Proof of telephone bill
d) None of the above
B0, TO TEDLL BNZ TS TSN
a) ©923F 00 MOTOES T,
b) cox* £38e3° YHUoI
c) BT VS Yoo
d) F0eOT cJTe S,
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49.

50.

A4- DO O

The advantage of ‘Make in India’ project is

a) Boost India's economic growth

b) Discourage direct foreign investment

c) Decline job opportunities

d) Flexibility

‘BT T Q0RO 03ReEFOH BB _ &G
a) WRUST GRFF WeRdrteddR) TR

b) Q3ed Sed wommes BRAFeINY HBRROFYT

C) VTR, TRHTIINY V0D

d) I3

Which type of entrepreneur are these ? They refuse to adopt and use opportunities
to make change in production, even if they suffer loses. They continue to operate
in their traditional way and resist changes.

a) Drone entrepreneurs b) Innovative entrepreneurs

c) Adoptive entrepreneurs d) All of these

33 FIR QTOT LT QT IR SRTEOCDTT ? FHMPOT WFLOSTTR IH [T
STFBRII, SYTRBROB, YVTOIRENY HMVTITIODY, WTOIBRNTTY, TRTEL

QTIBORITRCD. 55380 S TOOT, TIDOWE 0eS0IQ ToODF ITF&ZITY WHCHREBNY
- o
2BReRITIT.

a) B’ YU 0N b) S e, aonsh
c) T3 SRTBRYTRT YVTROND d) S0 ORP
51. Single window clearance even with the help of mobile application is features of
a) Make in India b) Start up India
c) Start up Nepal d) All of them

2,00 alraz,::)jtj‘ SR Pt plevelaleiat aﬁﬁmiéema@
a) R0es* QI° QOBRIR
C) MEFF & Je¥

ogfamﬂd.
b) MFF e dorcin

d) Seds DOTP
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52. Which of the following is not a fee-based financial service ?

a) Corporate Counselling b) Lease Financing

c) Profit Management d) Issue Management

8 BINTNYY, CART Boe)- 5503 BeasoRd BesFoDde, ?

a) Tpr Cets RN b) 7&K BeagoRd

C) Oy ATFTTS d) D038 AFBE
53. The sociological theory of entrepreneurship was given by

a) Max Weber b) E. E. Hagen

c) Both a) and b) d) Adam Smith

&3 0 e0B0oD FTRET AT 03 CIR00T QEBUDOWD ?

a) [N, Swo® b) @.@. TN

c) a) SO b) d) &3 Js
54. is example of innovative business ideas.

a) Red bus b) Flipkart

c) OLA d) All of the above

AR mﬁmd 5&;&%‘{# UTOBOTHOITNGS.

a) 8@ wx* b) EmEss

55. Medium term finance may be raised by
a) Issue of shares
b) Borrowing from banks
c) Issues of debentures
d) All of the above
a:-:,ﬁﬁam;s@ BEITORO
a) =econy el
b) 3,08 WO
¢) Briowcong eas
d) DT QP
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